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Question Number : 1 Question Id : 4771872754 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Rakesh, a Class-IX student 1s actively involving in co-curricular activities than
curricular activities. This relates to
FE-IX FT BT TH ISTHA AAETAT F Joladr A GISTHA WA
afafafat & afrg 9 & o991 o &) 78 S99 wE T ¢ -

Options :

Inter-individual differences

1. ®
Intra-individual differences

& - sRfrp Reww

Both inter and itra individual differences

Neither inter nor intra imdividual differences

Sev 3N ST SRR ReWw 2t o 7



Question Number : 2 Question Id : 4771872755 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT principle of child development
ATl e F e Beuia Fr gg=a R -

Options :

Development proceeds from general to specific responses

g g ¥ Afese gfafsamst $r v ear &

Development follows the principle of interrelation

e sduay % &g &1 9o #ar &

2. %

Development proceeds in the direction of the foot to head

e traerFr@amAFear

3. ¢

Development exhibits lack of uniformity in the developmental rate of a

child
g 9+ ¥ 0 T & vHe9ar S FAT T guEr &




Question Number : 3 Question Id : 4771872756 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List-A with stages as given
under List-B with respect to Erikson’s Psycho-Social Development Theory
tFaa & FAaAr-aAes FFw § feua § §&9u & §=-A 7 o v
fame & et 1 e GE-B # & 75 dTEAnst F HEw

List-A List—B

TH-A qef-B

(Period of Development) (Stage)

e & e T
A)  Birth to l% years 1) Initiative Vs Guilt

JH W 1Ay Ugel FATH TR e
B) 6 vearsto 12 years 1) Autonomy Vs Doubt

699 ¥ 12 99 TAOadT S9H Heg
C) 3 yearsto 6 years m) Trust Vs Mistrust

339 F 6 Ty freary a7 HfEeaw

2o 3 o ST T

Choose the correct one

TEr 397 F1 T34 FifaT

Options :
A-m, B-iv, C-1, D-1

1. ¢

A-1v, B-m, C-1. D-11

A-m, B-iv, C-11, D1

A-m, B-1. C-1v, D-11



Question Number : 4 Question Id : 4771872757 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development
of a child

o F fm AT APEET ¥ Haftd a9 FU FT @G FIST

Options :
Development 1s comprehensive than growth

e #fgea & Y oo+ §

1. #
Growth 1includes quantitative aspects; development includez both
qualitative and quantitative aspects
a‘ﬁl@ﬁmﬁqﬂ Wﬁ?ﬂﬁﬂgﬁﬂ?;ﬁ?ﬂqﬁw AT
, x TROTHACHE gt Tge] fEer g &
Maturation and environment influence child’s development
gRgsFgar AT IrarEtor == F Ty F7r g s 8
3. ®

Growth 1s comprehensive than development

HigER Rew & 3R s



Question Number : 5 Question Id : 4771872758 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the correct statements regarding the role of

heredity and environment on child development

0 7 @, 99 F TFm W HgaRFar AT aaEer Fr 7w ¥ &6y
TEr FUS # gg== FifST
A) Heredity plays a role in physical development of the child
HAATAFAr deF F M FFE 7 vF qfFwr o &
B) Enwvironment plays a role in the emotional and social development of

the child

IATERT aTel F HATSAS T FAMcAs FFm # vF JFF Famar
€

C) Development is the product of environment and heredity

fara aramERor AT HETRAT F 39 7

D) Learning and maturation influence development of the child

HTETH HT IIF=ar a9 F g #F 9ofEg F9 &

Choose the correct one

TEr 397 T 9394 HT=T

Options :
A, C.Donly

Faod A.C.D
1. ®

E, C. D only

Faa B. C. D
2. %

A, B, Conly

Fad A.B.C
3 %

A-Ba0 D



Question Number : 6 Question Id : 4771872759 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to
perform the problem independently. According to Vygotsky, this is

% e oy 7 a3fAfy gaft 99T #F 29 F9 H #Heg Far ¥ T 79
OF FEdT & ¥ § 991 1 g1 FA H HeTH & A@r § af 98 iy
Heg FIAT OIS AT &1 TCER F FIEX T § -

Options :
Scaffolding
EFBITesT

1. %

Fading

2. ¢
Shaping
RPN

3. ®

Guding

ATEelT



Question Number : 7 Question Id : 4771872760 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per Kohlberg's Theory of Moral Development. in this age. the child behaves

with obedience for avoiding censure by higher authority or social systems.

FiEaast % Afas FFw § Reua F 3GuR, 50 378 & F==1 399 s
TT WA AIEAHT 2@ e & 79 F oIT 3= c9gR #:3a1 g1

Options :

4 to 10 years

4W103¥ TF

1. #
10 to 13 years
0¥ 13399 &
2.9
3 to 8 years
3FS AV TF
3. %

8 to 13 years

8Y 1399 &



Question Number : 8 Question Id : 4771872761 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wechsler's Block Design Test. Picture Arrangement Test and Object Assembly
Test belong to this type of intelligence tests.

JTFe sk s gfetor, R cugTar 9feor Tur dfeswe HEdT
odreor FEfr TiieTor % TW YHR ¥ TS § -

Options :
Verbal
AiE=+
1. ®
Performance
2. ¢
Paper - pencil
FETH - FolHA
3. ®

Projective tests

JEqTeHF TLE0T

4. %



Question Number : 9 Question Id : 4771872762 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dynamic organization within the individual
of those psycho-physical systems that determine his unique adjustment to his

environment”.

afFa F faT 39 AA-iE cagenst F1 afafie gesa § S aarEoT
¥ TT 3EF WS FAESA F Auila w=ar g e @ffae #osw
T giaiRT R -

Options :
Hillgard
IFGCIE]
1. ®
Raymond B. Cattel
T ¥
2. %
Allport
Jferare
3. ¢

Carl Jung
Tl ST

4. %



Question Number : 10 Question Id : 4771872763 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A (Class-X completed student wants to continue his study and at the same time
wants to joln work to help his family due to socio-economic condition. The

conflict being faced by the student here is

ZHET F&T qUT A F dG UH OIF HIAT 928 AN @A & T WA AS-
s IRfEuaat F FRoT 39 9ER T 7Acg F T F17 o F=r TEa
¥ Tgl oY 35 HUY FT THAT T ET § -

Options :

Approach-Avoidance

e - IRER

1. ®
Avoidance-Avoidance
2. % R
Approach-Approach
TIeChITT - TioeehIoT
3.

Double Approach
aIgT EieashioT



Question Number : 11 Question Id : 4771872764 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements regarding the methods and approaches of Child

development

are T 1 Jfoat iy feeson @ g9oa @8 Faa gg=nfavr

A)

B)

!

Case Study Method 1s not applicable to an individual

8 e 3 G s safFa w Ay A6 e

Introspection Method lacks reliability. validity and objectivity
sreAfaieror 3 & Regweiaar, duar 3R IEgiessar 1 36 g@ar
€

Observation Method can be used to assess the behaviour of an

mdividual in natural conditions

Haeha O F1 3uger w@nnes oRitufear & &y aaEa +
STIE FT HTHhold A + T Far 51 TFar &

Experimental Method advocates the study of behaviour under completely
uncontrolled flexible conditions

yraifas Afr qof ®v @ sfefe a=e oRfeufaat & sigda aeer
F AT F giawfeg Far &

Choose the correct one

TEr 397 F1 737 Fifaw

Options :
ABCD
1. %
A. B, Conly
Fad A B.C
2. %
B, C {}111_*_(
FaeT B. C
3.
A, C.Donly
FIATAC.D



Question Number : 12 Question Id : 4771872765 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Decision making. Problem solving and Logical thinking belong to this domain
oot o=, FHET FT gAY FT AX e faT 59 89 ¥ &g &
Options :

Psycho-motor

HAT-9TF
1. ®

Cognitive

TAACHS
2. %

Affective

EICIEED
3. %

Conative

STOT-90<d T



Question Number : 13 Question Id : 4771872766 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify those that are relevant to learning

AT § ¥ 33 gg=a fifer Gasr gay sfem g § -

A) Unlearning is also considered as learning

HAGEAT it H@AT FAST AT §

B) Learning is a product and not a process

HTERTH UF 39 ¢ 7 & v gfar

C) Learning prepares an individual only for any maladjustment

feerH Fdt cufFa FF Fao FEARSES F T AR Far §

D) Learning results in behavipural change through practice

HEUTH & IR e99gR H IRaad Hfeee 1 9o &

Choose the correct one

HET 397 FT T84 FHIfAT

Options :
A B.C.D
1. ®
A, B, D only
Fad A.B.D
2. ®
AB L Ulﬂy
FIAT A B.C
3. ®
A, D only
FaTAD

4. ¢



Question Number : 14 Question Id : 4771872767 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the 1tems in List-A with the needs they represent given under List-B

T-A & T 71T 3ot 1 e §E-B F 3a@r g arel saedsanst

List-A List—B
RlEA B
A)  Elders support 1)  Esteem needs
TSl 1 HgdeT AT HT ATTLTHAT
B) Social status i1) Safety needs
wHTTer TRt L& Y HERTFHATT
C) Sleep i1i) Love and Belonging needs
CIC =g AR 399 Fr srFeFFar
D) Affection iv) Physical needs

=E e srTFar

Choosze the correct anawer

HEr 397 FT 947 fifaw

Options :
A-11, B-1, C-1v, D-11

1. ®

A-1. B-1. C-1v, D-m
2.¢

A-n, B-m, C-iv, D1
3. %

A-1v, B-m, C-1, D-n



Question Number : 15 Question Id : 4771872768 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the correct sequence of the steps involved in

learning process
o 7 @, 3foee 9frar 7 onfde =wom F @dr F7 fT 959 fiev

Options :

Goal. Motive, Overcoming obstacles, Achieving desired behavipural change

&, I, ATITHT W FH I, SFIER H Fifod Iaad 9rod FI

1. %
Goal. Overcoming obstacles, Achieving desired behavioural change, Motive
&, AT W FT I, R H Fifoa IRFa gred Fa1, T[F

2. %
Motive, Overcoming obstacles, Achieving desired behavioural change. Goal
W, AUTHT N FE 90T, ST9eR H aAfod IRTd IIod FIAT, T8

3. %

Motive, Goal. Overcoming obstacles, Achieving desired behavipural change

9F, FA&T, TUTHT T FE IAT, FIER F TS IRTAST TIoT FIAT
4.



Question Number : 16 Question Id : 4771872769 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the factor of learning which i1s associated with Men and Material

resources
AT AR Ao wEuEr @ 3 gU A F FRF A 9g=E HST

Options :

Proper seating arrangement and peaceful environment

4o @ 3T cagrar AR faqet aamEReT

1. ¢

Linking the recent learnings with those of the past

JaAT F I Fr 3T F 30w ¥ Fiwar

2. %

The basic potential of the learner

siferTaEar $t J1 aHar

3. %

The level of aspiration and achievement motivation

HTRTET 3T 39Tl 9I0T T TaT



Question Number : 17 Question Id : 4771872770 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the theories given under List-A with the basic principles given under
List-B
A # R a1v faquiat &1 few g=-B # fer v fawst & fifew

List-A List-B
kA of-i
(Theory) (Principle/Laws)
Riea foras
A} Operant conditioning 1) Learning 1s based on the principle

ﬁa‘ﬂ'l‘ﬁ'&,‘-l‘ yairﬂﬂ' of assoclation and substitution
drEar mE=d iR gfaras &

fgua 9T smuia &
B} C(lassical conditioning 11) Stamping 1n correct responses and
ITET Wﬂ?—[ stamping out of incorrect responses
el Rt FF TR T3
AT e ARt HF TEa
sl
C) Trial and Error 1m)  Emphasis on perceptual
YA AT 3 A reprganization
HIURUMcHS T8 9T aal

1v)  Emphasis on response rather than

stimulus

3ETF F TAT HFHHAT W T

Choose the correct one

TEr 397 F1 737 ffaT

Options :

A-m, B1, C-n
1. #

A-iv, B1, C-n

2. ¢



A-iv, B-m, C-n

A-m, B-1iv, C-11

Question Number : 18 Question Id : 4771872771 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the

student reflects this step of social learning.
FE-V F O Tha H g5 Tha & OMEl & IREE F& HR Fawor

aIfafafe #1 Hgalsa FaT § IA W F el F S} &1 A9 Fa1 g1 BT
FT Ig F AT JAEEH F =F FI F golfar 2-

Options :
Attention
p31 1)
1. ®
Performance
2. ¢
Reinforcement

3. % W

Retention

g



Question Number : 19 Question Id : 4771872772 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the aspects that can be transferred from one

situation to other situation of learning.

fara & ¥ 39 Tggs 1 wgma Aifav Jr drma fr v aifrufa @ @h
gqiifeufa 1 3T TaAEg & J69 ¢ -
A) Habits

e
B) EKnowledge

FAled
C) Shkills
Fterer
D) Feelings

1

HTIATT

Choose the correct one

TEr 397 F1 937 fifaw

Options :
AR LD
1. ¢
A, C.Donly
Fad A.C.D
2. ®
B. C. D only
Faod B.C.D
3. %
A B.Donly
FId A.B.D



Question Number : 20 Question Id : 4771872773 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A (Class-VII student tried to recall the concepts of Class-VI but the concepts

learnt in Class—VII are interrupting him. This 1s due to

FEM-VII FT TF OIF FeM-VI H HEr 718 ATURONAT FT A-TAT FIA FH

I FaT § fFg FE-VII A @@ 7 FTURUMT SHA 4T 3cded F)
&1 =T FHOT B-

Options :

Proactive inhibition

3T JinT Euy

1. ®

Repression
2. %

Amnesia

TEATIET
3. ®

Betroactive inhibition

qaeardr ferdrer

4. &



Question Number : 21 Question Id : 4771872774 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Suggest the aspects which help individuals to improve their memory and
retention abilities
3 9go[3T 1 A AT A #A907 F 3AHT T A GROT AT FI

U F H FEIAT 9 ¢ -
A) Appropriate motivation

3ferg 9o

B) Over learning

FeaTaF HAETH

C) Being more emotional

HAF A1gF T

D) Association of ideas

Tt =1 gersa

Choose the correct one

HET 397 FT =4S HIfAT

Options :
A:BC.D
1. ®
A B, Conly
Fad A B.C
2. %
A B.Donly
Fad A B.D
3.
B. C. D only
+ao B.C.D



Question Number : 22 Question Id : 4771872775 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The educational programmes such as Acceleration and Enrichment are to be
followed by the teacher to deal with these students

= oE U fAuea F for v frets # &wur 3R @ade S df s
FAFAT FT I FILAT AT

Options :
Gafted
EIGEIRICH

1. ¢

Learning disabled

HTETH HeTH

Physically challenged
ANNF §T ¥ HaTH

Slow learners

o afe @ drEa arr

4. %



Question Number : 23 Question Id : 4771872776 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In this learning. Learners initiate and advance their learning by more

experienced partners
39 fte A, Ramdt #fOw e @fyar § gy Fesr aftem &
YEHTT T g HR 3¥ 37 T2 g

Options :
Insightful Learning

1. ® I

Imitational Learning

HJFIUNcHF A
2. %
Programmed Learning
. s HTUETH
3.

Guided Inquiry Learning

IAMSTT SFaradr HERTH

4.9



Question Number : 24 Question Id : 4771872777 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among

students

OIET H ASdIg ATIH & J2ET & F T [ReTs F1 57 W9 F1 9reid
FAT TAMET

A) Set clear and specific goals

Tose 3T fafdse weat #1 FuRor FEr

B) Make goals dynamic with revision at regular intervals

afEa 3aue 9T s & O J&I7 S g I 9T

C) Involve parents

ATTT-TaT Fr ofHAT FLAT

D) Let students own their progress

STEN FT T I ST F ST

Choose the correct one

TEr 397 F1 T34 ffaT

Options :

A B.Donly

FId A.B.D
1. ®

A B. Conly

Fad A.B.C
2. %

A, C.Donly

FaeT A.C.D
3. ®

AB, D



Question Number : 25 Question Id : 4771872778 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In SQ3R method. the learner has to follow this sequence

SQ3R fafr #, sfeerasar #t 58 7 F1 3FEOT FA1 AT

Options :
Survey, Question, Review, Read, Recite

HEETUT, T2, WHIET, TSAT, AT

1. %
Survey, Question, Read, Review, Recite
HETUT, 9, TSAT, HHIET, HeATar
2. %
Survey, Question, Read, Recite, Review
TfeTOT, JoA, ST, FATAT, THET
3.

Survey, Read, Question, Recite, Review

HEETUT, IaAT, 92, AT, HHET



Question Number : 26 Question Id : 4771872779 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Phases of teaching given under List-A with the associations given
under List-B

TEr-A # fgr av Rrevor % Won # Few @B 7 G AT wOea @
ENE 1Y

List-A List-B
A w5
(Phases) (Association)
TOT EIC T
A) Pre-active 1}  Conducting Group activities 1n

g - gfeT the class
FaT H FHES Ad@raar

AT FEET

B) Inter-active 1) Giving home assignments
3T | SEF AT
C) Post-active 1) Writing lesson plan

qoT-gihy TS A= Torgar
Choose the correct one

TEr 3T F1 =37 FfFT

Options :
A4, Ban, C-m
1. ®

A-i1, B-1, C-11
2.¢

A-mi, B-u, C-1

A Gy, B3 €.



Question Number : 27 Question Id : 4771872780 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following strategies has less scope to promote group learning
among learners?

feafofEa & @ e FEe=Et & Reafiar & f= ames s #
FETaT & T IS FA Er §

Options :
Discussions
1. ®
Brain storming
AeTsF Ay
2. %
Lecture cum demonstration
SUTEATT HE 929
3. %

Seminars

afFar

4, %



Question Number : 28 Question Id : 4771872781 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT statement among the following regarding guidance
and counselling

fomafaf@a # 8, Avlgds 3k WA & Faftq e wa= gfav

Options :

In directive counselling, the counsellor plays an active role in

understanding problem

fermcas TUel #, HAESAT F THEAT THEA A ThHT ff7wr €

1. #
In non-directive counselling, the counsellee plays an active role
IR rens e #, wEEerr F 8T qfEe @
2.
Directive counselling is also called as client-centred-counselling
frdeTcHs TUAY F1 TEh-Higd-9uAYT off Far Jar &
3. ¢

Vocational guidance helps in career planning and professional

development

SAEEIaS ARRYT FEw O a9 T aEaees Tew A7

HETTaT FIdT &




Question Number : 29 Question Id : 4771872782 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the learning styvles given under List-A with the activities given under
List-B
TA # & TE e A ARt w7 G W & & s @
EQIE 1Y

List-A List-B
qeft-A Ti-B
(Learning style) (Activities)
sfeer A afafafeat
A) Visual learning 1)  Listening to tape recorders
T HEETH IS & gaAar
B) Auditory learning 11) Understanding Gestures
SFUT HTERTH aTT HEET § wHEAT
C) Kinesthetic learning 11) Preparing models
sifa=r sfeeT AT FATAT

Choose the correct one

HEr 39X F 947 ffaw

Options :

A1 B-m. C-1
1. ®

A1, B, C-m1
2.¥

A1, B-n C-m

A-im, B-n. C



Question Number : 30 Question Id : 4771872783 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teacher can promote team work. leadership. conflict management and
interpersonal skills among learners in this type of learning
9 ThR F AFftem F Pers Ref@at § & 3%, dq09, gy geua &R
IREAF Hierer I FE@ET a1 8§

Options :

Co-operative learning

TgareT dfee
o

Teacher-centric learning

foreTs - Ffgg 3MerH

Self-learning

=-JEEH

Subject-centric learning

Twa-Siga sfetemH

Language I Hindi
Section Id : 47718792
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187145
Question Shuffling Allowed : Yes



Question Id : 4771872784 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

farafaf@a sgamr 9few | 31 @ 35 a% RU 71w weaf F fov a@@ | #
T FIST |

TE [T AR Bfeea dfad &1 s mgaul uEe & S gEN
cafSaeTd FASIT 3T 3THI0T FF Ea @Al T 990 H A Far & | I8
HieTelse GfedT H FAN 3T FI FaTd W F forv e 17 3umat v gisrana
¥ mEfaa g | SlemiPeEr & a5 ¥ 39 gea & Ty, gaifEd @ ¥ 9
Ta+ & g AgcaqUl & AT § | HH F TENR I3 TAS H HeEm,
gfeher, TRlArer, Jgare & 21 =10, ifqerea g9t fr 91, gEat e d#R
TR FfoieT Tied TEaT TR + 5 & g, Al eAfFadr AR TISAT F TAA
¥ U JHFEA GG RS § | WHA YT F AeT HAqd arHes, Fafda
TIFCIW ST 3R FRRETS ST AT FT AR FIF 37 @Al FHT Akl
g | SEH @RI F FaT AT Hared & a # ffsa Far of afder &

Sub questions

Question Number : 31 Question Id : 4771872785 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FEaY L& SHY 99 H HEIdr F{dr ¢ -

Options :

Rfeea Sea @

FaIg IEFNT ¥

SO0 o

TEa @A §

Question Number : 32 Question Id : 4771872786 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FATo@d § ¥ Ig ey @dd 80 ¢ -



Options :

grsa Tertehdl

Question Number : 33 Question Id : 4771872787 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hsa dfelar AR g HT FHAA TEIT ¢ |
Options :

Fad giFgar

, gl A Faraar

2. %

FaoT HISAT
3, %

39rat 3T gisFarT
4. %

Question Number : 34 Question Id : 4771872788 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

§TF EERT WEaT @l HI A¢T U ST Fohal ¢ -
Options :

AT qrHa9

1. ¢

Fafag gireday 3¥9se



Os9d 9Tgds
4 % e

Question Number : 35 Question Id : 4771872789 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T \EaY @A ¥ FE YR 99 §Fg 87
Options :

SleafarEhr I AT FErH

TETT $TAC T HHAToT Floh
2.9

RBfeee e % z@m

3. %
HAST F1T F45

Sub-Section Number : 2
Sub-Section Id : 477187146
Question Shuffling Allowed : Yes



Question Id : 4771872790 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)

farafaf@a gegir 9few | 36 @ 40 aF RE v weal F & 3 F1 944
HifaT

TF G, AT HHAT &,

# ar g afer-arr-a,

%k IFHT Fd F RS |
39 99 W TE F T,
Y 3R ¥ ST 7 T,
af gH 3 F X e,
Saq-97 34T 7 G |

9T FA? - qE A FT -

g ¥ °3q qdferdr arh,

AT AT S5 =Y ThThT

ST & HHHI THEDT |

Sub questions

Question Number : 36 Question Id : 4771872791 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FiT SH Ghal TR 2 -

Options :

% Hl

1. =

FIdT AT FT

ST 3T oae F

T, T 3T 4o F
4.

Question Number : 37 Question Id : 4771872792 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



FfT =T F AAS 8 |

Options :

Question Number : 38 Question Id : 4771872793 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
AT F AR ol d ¢ -
Options :

=Jcld 9 =g o Hehdl

1. =

3d 9T ST o Hebedl

SHTTA-9 o HIAT TTAT

ECEE IR IGRETG]

Question Number : 39 Question Id : 4771872794 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For AR qafear FAT: § -

Options :

1. *



9dd, 2ad

9Jd, Frell
FTell, 299

Question Number : 40 Question Id : 4771872795 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

wfy fra gy J&T TRy 2

Options :

T &

1. %

IS +
2. %

3. % aTlé':F

3ehol

4.

Sub-Section Number : 3
Sub-Section Id : 477187147
Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 4771872796 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. %
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2. %
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Question Number : 42 Question Id : 4771872797 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. %
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Question Number : 43 Question Id : 4771872798 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘TAN Iigie a1s Fr Ter g -

Options :

Question Number : 44 Question Id : 4771872799 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. *®

[
CECDEICEIREGIE:

HauUar=Es HaTA

=T+ §aa =



Question Number : 45 Question Id : 4771872800 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fraof@a & ¥ a7 307 o T 96 ¥ I {Ew J9 I« Jut F
e g1 T -

Options :

1oy
1. &

Question Number : 46 Question Id : 4771872801 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tl UTATEH TgaT |
(A) ERRT FT faawor forar =mar & |
(B) & TATE ATl & |
(C) 14 FgaT ¥ a7 Ira feaw #mamar Far ¢ |
(D) TTEIMTPTTHT T IS BFam F1ar § |
Options :

A, D, B, C

B,C, D A

C.B, D A

DA C B



Question Number : 47 Question Id : 4771872802 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

e S CEEOM]
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TETST -
2. ¥

geArar - EEmE
3. %
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Question Number : 48 Question Id : 4771872803 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. ¢
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Question Number : 49 Question Id : 4771872804 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. %
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«

2.
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Question Number : 50 Question Id : 4771872805 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 51 Question Id : 4771872806 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

@ a # ¥ I8 o= Hifoe aA87 & -

Options :

dicel
1. ¢

Question Number : 52 Question Id : 4771872807 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

das REa, el
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Question Number : 53 Question Id : 4771872808 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TGENT & SUT-32W SW&T | {Withd =< ¢ -
Options :

Yfaa=s fFofaewor

1. %

FAHa= Srartereror
2. ¢
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3, %
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Question Number : 54 Question Id : 4771872809 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 55 Question Id : 4771872810 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

UTS-TISTaT J0Td THT U [eTF FI SHHRT AT 21T 392 TF Jal & -

Options :

el S T, eTHATT

Question Number : 56 Question Id : 4771872811 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 57 Question Id : 4771872812 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. ¢
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2.3
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Question Number : 58 Question Id : 4771872813 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 4771872814 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 4771872815 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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P

Options :

e ATl

2. %

Hegare fafer
3. %

gegey 3
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Language II English

Section Id : 47718793
Section Number : 3

Section type : Online



Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mandatory
26

26

30

0

1
477187148
Yes



Question Id : 4771872816 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:} 12 a multinational mitiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011. though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia,
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget. according to the
agency's Office of the Inspector General.

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space statlon 1s allocated to different space agencies based on their financial and
other respurce contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771872817 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to various

space agencles based on the following contribution.

Options :

spcial service-related
1. ®

environmental

finanecial and other resources
3. ¢



educational

Question Number : 62 Question Id : 4771872818 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continuous human presence since the year
Options :

1. ®

2. ¢

1998

2011

Question Number : 63 Question Id : 4771872819 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement about the International Space Station (ISS).
Options :
It 1s a multinational initiative and the smallest single structure ever

constructed by humans in space.
1. ®

It 1z a multinational initiative and the largest single structure ever

constructed by humans in ocean.
2. %

It 15 a multinational initiative and the largest single structure ever
3 constructed by humans in space.
It 1s only NASA’s initiative and the largest single structure ever

constructed by humans in space.



Question Number : 64 Question Id : 4771872820 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. ®

Rus=1a
2. %

Japan
3. ® B

The United States of America
4. &

Question Number : 65 Question Id : 4771872821 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA). the ISS operates as a collaborative

program of the following.
Options :

Europe, the United States of America, Russia. Canada. and Japan
1. ¢

Europe. the United States of America, Russia, India. and Japan
2. ®

Europe. the United States of America, Germany, Canada. and Japan

Europe. the United States of America. Russia, China and Japan
4. %

Sub-Section Number : 2
Sub-Section Id : 477187149
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771872822 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display

brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. ®

There, their
2. %

Their, they

They, theiwr
4. ¢

Question Number : 67 Question Id : 4771872823 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two sentences.

Sentence A: She came here to studyving at the college.

Sentence B: She came here to study at the college.
Choose the correct option.
Options :
Only the sentence A is correct.

1. ®

Only the sentence B is correct.
2. ¢

The sentences A and B are correct.
3. ®

The sentences A and B are incorrect.
4. %

: MCQ Option Shuffling : Yes Display



Question Number : 68 Question Id : 4771872824 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

L% fastly

quick
2. ®

3 @ quickly

slow
4. %

Question Number : 69 Question Id : 4771872825 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1.¢¥

gave up
2. %

glve up
3. ®

ave back
4% B



Question Number : 70 Question Id : 4771872826 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him pohitely.
Combine the two sentences.

Options :

Sharath will not obey you unless you talked to him politely.
1. ®

Sharath will not obey you unless you don't talk to him politely.
2. %

Sharath will obey you unless you talk to him politely.
3. %

Sharath will not obey you unless you talk to him politely.
4.

Question Number : 71 Question Id : 4771872827 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.
1. #

The car was being driven by my brother.
2.¥

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %



Question Number : 72 Question Id : 4771872828 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me vour cycle.
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his cycle.
1. ®

I requested my friend to lend me your cycle.
2. ®

v I requested my friend to lend me his cycle.
3. %

My friend requested me to lend his cyele.
4. %

Question Number : 73 Question Id : 4771872829 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he 1s right.
Identify the meaning of the word "abundant’.

Options :

ample
1.

meagre
2. ®

minimal
3. %

scant



Question Number : 74 Question Id : 4771872830 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history is profound.
Identify the opposite meaning of the word ‘profound’.
Options :
sincere

1. ®

scholarly

erudite

superficial
4.

Question Number : 75 Question Id : 4771872831 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called
Options :
anthropology.

1. ®

ornithology.
2.

_ zoologv.

mythology.
4. %



Question Number : 76 Question Id : 4771872832 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the meaning of the idiom ‘a dark horse’.
Options :

A wild animal
1. ®

A black horse

An unknown entry
3.¢¥

A front runner

Question Number : 77 Question Id : 4771872833 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privil ege
1. ®

malntenence
2.9

exclamatory
3. %

colleague
4. %



Question Number : 78 Question Id : 4771872834 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :

Conversion of agriculture into forests land 1s weakening India’s monsoon.
1. ®

Conversion of forests into monsoon land 1s weakening India’s agriculture.
2. ®

Conversion of monsoons into agriculture land 1z weakening India’s forests.

Conversion of forests into agriculture land 1s weakening India’s monsoon.
4.

Question Number : 79 Question Id : 4771872835 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday,

Choose the correct option to complete the sentence.
Options :

wasn't it
1.v

1sn't it
2. %

1s 1t

was 1t



Question Number : 80 Question Id : 4771872836 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D
Options :
A

Question Number : 81 Question Id : 4771872837 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the grammatically correct sentence.
Options :

All the five man’s were very energetic and eager to perform their duty.

1. #

All the five men were very energetic and eager to perform their duty.
2.¥

All the five mens were very energetic and eager to perform their duty.
3. %

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771872838 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country, people often

@:the best and the most intelligent,

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that they themselves are

Choose the correct option.

Options :

2.

3.

4,

PiQ.T.ES

P.T.Q.S. R
o

P.R.Q.T.S
W

P.T.R.Q. S

®

: MCQ Option Shuffling : Yes Display



Question Number : 83 Question Id : 4771872839 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

) The wisdom 1s the gift of heaven.

The rose is the sweetest of all flowers.
3. ®

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771872840 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :
laid



Question Number : 85 Question Id : 4771872841 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 15 a/an
peop ;

Options :

story.
1. ®

conversation.

2. %
essav.
3. ® :
apeech.
% T

Question Number : 86 Question Id : 4771872842 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner

1. ¢

Noam Chomslky
2. %

Antony EM

Brendan J. Carroll



Question Number : 87 Question Id : 4771872843 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom, an English teacher should create an environment
that 1s

Options :

focused on writing and giving home assignments.

1. ®
strict and following formal methods of teaching.
2. ®
stimulating, inclusive, and focused on student participation.
3. ¢
teaching and learning that relies solely on the textbook.
4. %

Question Number : 88 Question Id : 4771872844 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1= inappropriate for the English instruction at the primary

level.

Options :

Friendship and Kindness

Sports and Games

Home and School

i World Heritage and Culture



Question Number : 89 Question Id : 4771872845 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. #

express oneself intelligibly. reasonably and accurately.
2.¥

asalst learners in writing without making grammatical errors.
3. ®

develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771872846 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1z correct.

Only the statement B 1s correct.

The statements A and B are correct.

The statements A and B are incorrect.

Mathematics



Section Id : 47718794

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187150
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771872847 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rational form of 3.7 is

3.7 T 9&AT &9

Options :
37

100

37
99

34
99



Question Number : 92 Question Id : 4771872848 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[(=3) x (=4) x (=5) X (=6) x (=7)] =

Options :

I~
L]
[~
[

1. ¢

Question Number : 93 Question Id : 4771872849 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The population of a town is 108090. Out of which 29040 are men and 28105 are

women and the remaining are children. Then the number of children 1s

T ogY T A HEAT 108090 § 397 F 29040 q¥w 3R 28105 f&3ar &
A arhr F==r Fr gEar § a1 I=4r 5 e F=2r geh

Options :



Question Number : 94 Question Id : 4771872850 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects In an examination are 228. If the
average marks of 3 subjects 1s 56, then how many marks did the student get in

the fourth subject?
4 fawat & fareft ¥ aanr g o o ofiew & s 228 € 3fy 3 Swar
Fr HHT 3+ 56 gr ar I By F grog 3% F4T g

Options :

L% 58
62

2. %

3@ 60
64



Question Number : 95 Question Id : 4771872851 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?

T 78 79 @ == s &

Options :
98
100
1. =
23
25
2. %
10
11
3.¢
57
59



Question Number : 96 Question Id : 4771872852 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If each side of a triangle 1s % rd of its perimeter, then type of the triangle 1s
afs B & 9% o= F1 9T - ¢ 59 e W owER ¢

Options :

Ispaceles

CECAEELR

1. %

Equilateral

g

2. ¥

Right angled

; x FHESIT

Obtuse
AT FiOT

4, %

Question Number : 97 Question Id : 4771872853 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following number 1z divisible by 67

T Ao s drogeae @ afGa aadr &

Options :
179184



Question Number : 98 Question Id : 4771872854 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of millimetres in 100 Kilometres ia
100 fpreltdTer #r Fear FeHey #
Options :
10°

1. #®

107

10°

10°
4.«

Question Number : 99 Question Id : 4771872855 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of edges in a tetrahedron 1s
TgsHas + Rart fF g

Options :

1.3";“‘:_L



Question Number : 100 Question Id : 4771872856 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60cm long wire 1= used to form following shapes. Which of them will have
shortest side?

60 T H. oF X ¥ ITANET ¥ A 3R FT F4TA7 AT § FiT T 3FN
T T FIH SIS g

Options :

a sguare

cp)

1. ®
an equilateral triangle
| E
2. %
a regular pentagon
T Y=
3. ®

a regular hexagon

T s

4.9



Question Number : 101 Question Id : 4771872857 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

38X38X38-26X26X26
38X38+38x26+1+26X26

Options :

12
1. ¢

144

64

1728

Question Number : 102 Question Id : 4771872858 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price is 8:10. The profit percent is

T {7 AT OFT g9 F7 Hgaa 8:10 I & wiaerT -

Options :



Question Number : 103 Question Id : 4771872859 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s NOT correct?
A s g Fla wrwer adi ¢

Options :

£ 15
15 tenths = vy

2 [
15 Farer = =

3025 grams = 3 kilograms 25 grams

3025 IMH = 3 FFraanA 25 AH

Area of a rectangle 4.5m X 0.5m = area of a square with side 15cm

AT FT &FEA 4.5m X 0.5m = T FT &TTG fAFHI AT 15cm
3.9

0.016 =16 x 1073
4. %



Question Number : 104 Question Id : 4771872860 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The place value of 0 1n 2225.106 1s

2225.106 # 0 FT FIET T

Options :
Hundreds

HeraT

1. #®

Tenths
ggar HTeT

2. %

Tens

gETS

3. %

Hundredths
glat smer
o



Question Number : 105 Question Id : 4771872861 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Gl 1 : : : :
Ramu gave his sister - th of chocolates available with him. He gave his brother

2 CUR ;
p rd from the remaining and left with 48 chocolates. The number of chocolates

available with Ramu at first 1s
T F I S GeT ¥ 3OE - W SEA dg # F fr d A

mmgmmmaﬁaﬁmmwmaHMﬁwxw
9RH H g Ikole ¥

Options :

240
1. ®

180
2. ¥

360

430



Question Number : 106 Question Id : 4771872862 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers is divisible by 2, 3, 6 and 8?

o # ¥ Fi7 O g=ar 2, 3, 6 3T 8 ¥ fawnfog g &2

Options :
24810

Question Number : 107 Question Id : 4771872863 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 men can complete a work in 24 days, then 12 men will complete the same

work in how many days?
4 FEA TH FH F 24 @ F qUT Fa §, 99 12 JEHAT 3H FE OH
fraer feat & of sEn

Options :
12

]

4.



Question Number : 108 Question Id : 4771872864 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

35m? is the area of

35m? 9% &

Options :

A square having side 35m

U T EHT g=m 357

1. ®

3 squares having side 7m each

2ﬁsaﬁﬁaﬁmgm?ﬁr§

35 squares having side 1m each

35 T fo=ehr gca= o= 1@ ¥

3. ¢

7 squares having side 5m each

7 T ST 9edF ST 5T

4. %



Question Number : 109 Question Id : 4771872865 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands 8§ hundred sixty-nine in numerals can

be written as

HEAT 3 FS 6 9@ 4 g9 8 Tl 390A7 F UEAHF &7 H @ for@n
ST &

Options :

30604869
1.v

360400869

2. %

36004869

306045069

Question Number : 110 Question Id : 4771872866 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
(37)°-

Options :

P

4.9



Question Number : 111 Question Id : 4771872867 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

; s
There are 72 students in a class. If the number of boys 12 Z times the number of

girls. then the number of girls 1s

T FaT ¥ 72 Regd ¥ afy wsw & vew wshhEt & dewm e 2 g g
ar asfrar Fr gear Far gef

Options :

Question Number : 112 Question Id : 4771872868 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of points present on a straight line are
T WY 1@ W 3978yd fawgsit i gear
Options :
0

1. *®

[

3.¢



Question Number : 113 Question Id : 4771872869 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an even integer when N 1s an odd integer?
Ife n v faus quis & o @99 & & 98 o7 qUis g -
Options :

5n + 8

1. #®

3
- 3n° +5

3n? + 4

4n? —5

Question Number : 114 Question Id : 4771872870 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 1s A and mean of odd numbers less than
10 1s B, then i

B
25 ¥ FH HATTT HEATHT FT TIETHA A § 3T 10 ¥ FH7 w7 e #
AT B g a4 % =

Options :

X
1.+ 2D

18



Question Number : 115 Question Id : 4771872871 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematies?

fara of@a & ¥ #i9 @1 71t & 957 F1 798 3=o1 Joia =@ &

Options :
It involves abstract thinking and logical reasoning.

sud g Faa A arfes as afde &

1. ¢

It 1s himited to solving routine classroom problems.

g ufEa wem i gaeast F1 g7 F= 9% Oiag gl

2. %

It 13 exclusively concerned with principles.

g v §9 ¥ Rgual & w&fed gl

It 1s a language used only in art and engineering.

TE Fad Forl AT SAHIANT & FIRT HT A= Treir A9 T



Question Number : 116 Question Id : 4771872872 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a child is consistently strugglng to count beyond 20. what should a

primary mathematics teacher do first?

Ife FE J==1 ENGR 20 ¥ 3 e F §uy T w g ar waEs
IA0TT +F RNeTF FT G Igol FIAT FIAT AT

Options :

Doing challenging addition problems.

. TAIAOT S5 FHAEAT g HGA

1.
Reciting the numbers.
. HEATHT FT 915 FIAT
2.
Conduct of daily tests.
. AGER LI EICGRETGI
3.

Strengthening counting skills by utilizing concrete objects.

BN FEGHT FT IYART FF AT Flere FF A FI&AT|




Question Number : 117 Question Id : 4771872873 Question Type : MCQ Option Shuffling

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A rubre 1s:
T+ &+ &
Options :

A standardized test prepared by the experts.

st @R dOR U AR Fa adreTor

1. ®

A multiplication and division trick to answer within seconds.

Fhsl # 39T & F T o X amr Hir TF

2. %

A scoring guide that provides criteria for assessment.

TF FHIT ST A Al 5 [0 AWES 9o FIAT §
3. ¥

A graphing tool to solve algebraic equations and algebraic problems.

: Yes Display

AT gHRUN HT ST gAEET #° g Fa + o uh amfes

3907



Question Number : 118 Question Id : 4771872874 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the features of mathematics listed in A with their corresponding

actions in B.:

T-A ¥ & TE AV A ROV B GhB F & T 3w wed

frarat o SfsT
A B

A)  Creativity 1)  Breaks down problems logically
THATCHSAT FAENTHT FT ATfhd T F ArsaT §

B) Analytical Thinking 1) In-depth content knowledge
ERELMIE R o) e v T5g A

C) Communication 11) Use innovative methods
=X Al LT FT IIET FY

D) Conceptual Understanding iv) Explaining mathematical ideas

TheddlcHs TH o 3uTar i sATEAT FLE

ChGDSE‘ the correct answer

TEr 397 FT IIT FI|

Options :

A-1, B-1v, C-11. D-1

1. ®

A-mni, B-1. C-11, D-1v
2. %

A-m, B-1. C-1wv, D-1
3.¢

A-1v, B-1, C-11. D-n



Question Number : 119 Question Id : 4771872875 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The 1nstructional objectives are:
HAGATCHF 32T &

Options :

More related to classroom teaching.

ferRTerT: wefTerer foreror & TEfOT &

1.
Achievable in the long term.
- & # g foRar Far &
More abstract.
} #foF gt
3.

Mot measurable.

A9 AT FAgl



Question Number : 120 Question Id : 4771872876 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess. 'If a square piece of paper is cut diagonally.

what shapes will be formed?"

TF e Ol FT HFAWE @A F T FEar € T FET F TF TS
FI AT AHR F F1T AGT g I FIFET AR FTAT

A) Two rectangles
ar g
B) Two circles

ar ga

C) Two triangles
ar
D) One triangle
F e
This question relates to this academic standard.

T 999 5@ @S ATEE § HElRA ¥

Options :
Connections

FAFAT

Visualisation

AarATas =T

2.

Problem solving

HAET HATAMA

Reasoning and proof

I+ T gATOT



Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Environmental Studies

47718795
5

Online
Mandatory
30

30

30

0

1
477187151
Yes



Question Number : 121 Question Id : 4771872877 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Plants can be classified into the following categories
gt Fr Aeafaf@a ot & Feffea BFar s g g
A) herbs
B) shrubs
C) trees
us
Choose the correct answer
Har 397 FT T FY

Options :

A & Bonly

Faod A& B
1. ®

B &' C 01115'

FaAB & C

A& C 01115'
Faa A & C

AB&C
4. ¢



Question Number : 122 Question Id : 4771872878 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Riva often peels vegetables like carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible, as it helps
improve digestion. The food component in the peel that is likely the reason for
thiz advice 1s:

far sy e AR @Y ST w@fesat # 9Re @ 9@ edr @1 s
frferr o 38 wong &1 &5 =9 off ¥o9 &1, 3=¢ Bos wfea & swaaa #X
FifF sEY 9= H GUR BT g | Bes 7 39ftue a7 wew-ues St
HHad: 35 g HT FNOT ¢ -

Options :

Protein

Vitamin

Fafaa

4. %



Question Number : 123 Question Id : 4771872879 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about hermaphroditizm.

FHAEET F a0 # TR U9 F 92919 F{

Options :

Hermaphrodites can only reproduce asexually.

3T Fad EF FT T 9944 F7 G5 21

1. ®
All animals are hermaphrodites by nature.
- T FAHET FEAE § AT g g
Hermaphrodites possess both male and female reproductive organs.
FHgferel TR & a7 3R AT a4 F Tolda 397 910 I 8 |
3. ¢

Hermaphroditism occurs only in plants.

FHITETET o gty F 9T I §



Question Number : 124 Question Id : 4771872880 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary purpose of rearing the Kangayam bullock 1s:

HAMIA o HT qTeled HT TARF 3627 B

Options :

Racing

ats

1. *®
Milk production
. el
2. %
Drought work
FIN FH
3. ¥
Wool production
, w 3 3caRA



Question Number : 125 Question Id : 4771872881 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the device, commonly used in industrial chimnevs to reduce air

pollution by removing particulate matter from flue gases. from the following

Frafo@a & ¥ 35 30T $ g H, ST 39AET Hedas
femfaat & oo A6 ¥ FOFgTFa 95 F e 3 TGE0T FOFA F
¥ fore frar =mar g

Options :
(Gas turbine

T TEEa

Electrostatic precipitator

fdega ey

2.¢

Heat exchanger

ISAT T HETA-YSTH FI{ aTaT

Blast furnace

g HEd



Question Number : 126 Question Id : 4771872882 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food item should be done on:

T WeEF-gery # Ter #r 39fEufy 1 adetor fRar smer afzo
A) Cooked food

T g Tt
B) Raw food
F=aT AT

Choose the correct answer
TEr 397 FT IIT FY

Options :
A only

Haol A

B only
I B

Both A& B
A& B gt

3. ¢

Neither A nor B

AT B # FF ofr 7T



Question Number : 127 Question Id : 4771872883 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

AAT OIT F 93+ HT gg@ioar $Hr gEar

Options :

13 ribs

13 ggferar
1. %

12 ribs

12 guferar
2. %

11 ribs

11 ggferar
3. %

10 ribs
10 gaferEr

4. %



Question Number : 128 Question Id : 4771872884 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The balance of oxygen and carbon dioxide in the atmosphere 13 maintained
through:
IGATST H FFHSA AR FEA 315 HNFHES FT Hdod e+ ATH H

FATT T@T AT 2 |
A) Respiration — Plants

9THT - dier

B) Photosynthesis — Plants
YhIeN HLeWUT - gie

C) Photosynthesis — Animals
FhTRT {RAWOT - T3[

ChGDSE‘ the correct answer

FEr 397 T T4 FY

Options :

A & B only

Faod A& B
1. ¢

B & C 0111}'

FaIB&C
2. %

:J'L & C 01115'

FaTA&C
3. %

A B&C



Question Number : 129 Question Id : 4771872885 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following declared a ‘no drive zone’ within a 2.5 km radius of the

Taj Mahal?
T=fefET & o &Faa arsaega § 25 &AL F gy & A gz9 JSa
ot &Far gl

Options :

Archaeological Survey of India

AT ded Tfemor

1.
Central Pollution Control Board
FearT geuor fag=r &S
2. %
Supreme Court of India
AT FT Haf=d 1o
3. %

Ministry of Environment. Forest and Climate Change

qATEReT, 99 AR Foarg add dFeT



Question Number : 130 Question Id : 4771872886 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water is available in the form of ice and

snow?

gzl F At F F FRaar I3 % #R BFE F w9 &7 39w @

Options :
1
1. # 1
1
3
2. %
5
3. % &
2
3

4.«



Question Number : 131 Question Id : 4771872887 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement regarding renewable and non-renewable energy
spurces.

TN T FAFONT FAT TG F Ta9U H Tl FU9 7 9g99 FI|

Options :
Renewable energy sources are always more efficient than

]‘.1(}11—1‘9119“'.’11)19 sources n ENergy C{}ll‘i"EI‘Si{}l‘l.

FAT FTAGIOT A ANONT FAT TG F&T FAASF0ONT FHET F{r
ol # HTOF Fore BT

1. ®
Non-renewable energy sources are infinite and can be replenished
naturally within a short time span.
HAGHRWTT FAT T Hd & 3R 3¢ 9T TFT F i) Tsias
®9 ¥ g 9Iod FRAT ST GehaT g
2. %
Both renewable and non-renewable energy sources emit equal levels of
greenhouse gases during energy production.
FNFONT 3T 3FAFONT AT FAT TF IS F 3R F AT
MNermw A F A T F 3c8aT + 2l
3. %

Renewable energy sources include solar. wind, and geothermal, while

non-renewable sources include coal. 01l. and natural gas.

AR FAT Tl H @R, 999 3R gardw Far arfde € F9f
HANFONT FAl # Fgelm, o AR Ipfas I7 afde g

4. ¢



Question Number : 132 Question Id : 4771872888 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following food items help in increasing the quantity of blood in
the human body?
AT # Fi9 a1 @y ot a=g iR # =9 f 7T TeE # A
T €

Options :
Chips. soda. and white bread

=rem, gier A a%e I3

Peanut bar, gingelly bar (Til), and eggs
Heell g, faer #r 92t v 3703

2.

Pickles, fried snacks, and candy

AR, e U T, U9 H3

3. %

Instant noodles. coffee, and sugary drinks

STCT o[5¢d, HIDI UTF qFhigFd 97

4. %



Question Number : 133 Question Id : 4771872889 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1565, the five Bahamani Kingdoms joined together and defeated this

Vijayanagara ruler at Rakkasi Tangadi war

1565 #, 9f<l Sl WAl o AT FHrdl darsr I # 58 = ae
ATHF FT Tisia FFaT -

Options :

Achyuta Raya

J=dd IF

Aliya Rama Raya

5 e IH T

Venkatapati Raya

Jheqla T

Saluva Narasimha Raya

AMed FTHg T



Question Number : 134 Question Id : 4771872890 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainism. the Rashtrakuta rulers

were

ffof@T o9 u& & vHE Fg@Aa # Tsghe aEF ¥ -

Options :
Chandra Gupta II and Udayana

Heded 1 3R 38T

1. ®

Kharavela and Samprathi

Nmmmﬁr

Hamundaraya and Kharavela

g AR @Rad

3. %

Amoghavarsha and Krishna IV

_, FHEEEE 3 Feur IV

4. %



Question Number : 135 Question Id : 4771872891 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1956, the number of States and Union Territories created by the States

Reorganisation Commission

1956 H T=T T3 HARM F GaRT 3da U= AR Fg Ml 92T aa1C 7T -

Options :

14 states and 6 Union Territories

14 T=T 3T 6 Fg g veor

1.v
28 States and 9 Union Territories
28 U= 3T 9 Fg af@g v
2. %
18 States and 7 Union Territories
18 T=T 3T 7 Fg afag 9o
3. ®

29 States and 8 Union Territories

29 = 3T 8 Fg AfHg wr



Question Number : 136 Question Id : 4771872892 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following was NOT the Prime Minister of India between 1989 and
1991
foreafof@a & O = 1989 ¥ 1991 & F¥ IRd & Tu"HT #ef ¥ -

Options :
LK Gujral
TS F. I+
1. v

Deve Gowda
gaattsT

2.¥

Vishwanath Prathap Singh

regary gamw

Morarji Desail

Jnﬁmﬁ?"@l‘é

4. %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.



Question Number : 137 Question Id : 4771872893 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following i1s the aim of 4274 constitutional amendment of the Indian

Constitution
el # ¥ 98 9T o # 42 3 gaurfas gemaa 7 3687 T -
Options :

Making the Judiciary subservient to Parhament

L =UTIITTolsRT I HHE & il aa=ar

Enactment of the Official Language Act

TFHTT JAATHTH F1 AOHITAT

2. %

Bringing Education Under Fundamental Rights

fore Fr Hifos =R F FATeT o=

Strengthening the State Government vis a vis the Central Government

% TR F JAFES ToF TFR Fr AT qATA



Question Number : 138 Question Id : 4771872894 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ravi 18 travelling from New York to New Delhi by Aeroplane. Then Rawn

T gasses & @ g+ ¥ A% et Hr AN A @ E | 99 W

Options :

loses time of 4 minutes as he croszes every longitude

T F M F IR FA W4 A T AT TG &1 £ |

1. ®

gains time of 4 minutes as he crosses every longitude

Jeds ZATaY T 9T Fld 9T 39 4 TAaC T 8T 991 § |
2.

neither gains nor loses the time

HAT FT BrIer At 781 gar AT JHae o 7@ |

almost loses 24 hours by the time he reaches New Delln

75 feeel 9ga 9% J¢ T9THIT 24 G A &Ar ¢ |



Question Number : 139 Question Id : 4771872895 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau
¥ 99d HTATC gFhed TSR & AT FRaRt &7 AT F3et §
Options :

The Satpura Range

l.ﬁmnﬁmmﬁ’

The Mahadev. the Kaimur range and a portion of Maikal Range

FEIEd, HHT T9aATen R ATl TadATT H T AT
v

2. il

Western Ghats

gfegdT Ore

3. %

Nilagiri Mountain Ranges

Frafardr o3T At



Question Number : 140 Question Id : 4771872896 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India. the major tea producing region among the following 1s

foafofea & & 78 9¥Ra 1 974@ =9 3c9Es &T ¢ -
Options :

The hilly regions of Assam

| v FTHA F @4 &

The Baba Budan Hilly Region

- 9TeT J TS &

The Nilgiris in Karnataka, Kerala and Tamil Nadu

- FAlCH & AR, T ’R IS

The Andaman and Nicobar Region

A HT TFHER 87



Question Number : 141 Question Id : 4771872897 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in

drought prone areas is to

F@EIET 891 F THFa IeqNT I6Y FEFH FT AT 38827 ¢ -

Options :
Strengthen the community and enable them to plan for proper utilisation
of natural resources

HHSE F Gee o AT 3¢ Ipias Gare=At & 3Ea g3 F fov

ITSFAT 94T H T&TH 1T
1.

Provide water to drought prone areas continuously

qEETET & F1 @y STo7 39eley FIEmEn

Undertake plantation in large scale

; x I8 YA T FERIVOT FIAT

Encourage the farmers to undertake community farming

fraar #t aaeas @ F T giearfgd Fr

4, %



Question Number : 142 Question Id : 4771872898 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bhakta Prahalada, the first tallkie movie which was released in 1931 was

produced by

1931 ¥ e g e 9ger Sedr frer a9 weag & forAtar ¥ -

Options :
Raghupathi Venkailah Naidu

Tgufa dear A3

1. ®

Edida Nageswara Rao
TSIST ARERET 9

Hanumappa Muniappa Reddy
gIACHT HiAaedr T3
3.¢¥
M.V.Raghu
TH.AITg

4. %



Question Number : 143 Question Id : 4771872899 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To spread awareness among daliths by using Popular Folk Arts, Bhagya Reddy

Varma started

ANSIAT Alh FoTAT HT FTART T Gloldl H ARGHT dld F [oT AT IF3

Options :
Adi Hindu Society

L« FERR AN

Jagan Mitra Mandali
, o F9A [T Hselr

Satya Shodak Sama;j
T AT+ TATH
3. %

Sharada Sadan

ANCT HeA
4. %



Question Number : 144 Question Id : 4771872900 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This amendment made to the Indian Constitution says that “the state shall provide

free and compulsory Education to all children between the ages 6 and 14 yvears
AT iU 1 9 WAl FEar § F =T 6 ¥ 14 I F; g F wl
Feat & fes AR afard fRrer gg= o 1o

Options :

61% Amendment

61 a1 T

1. ®
4274 Amendment
42 IT HIA

2.
86t Amendment
86 IT Ty

3. %

10224 Amendment

102 3T T



Question Number : 145 Question Id : 4771872901 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
During a science lesson, Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning
interaction is primarily being emphasized in this activity?
e ¥ oF 95 F e gt 9o A aw faef¥at #r oo g A7
FH Fh AT 399 HTAFRAT W T FS F &0 FgT | ST AaEra FH
e 79 # 59 9eR fr @@ A s w SR G sr @ @

Options :
Student — Content Interaction

o - fawg arg e

1. #
Student — Teacher Interaction
, x M- forers 39 e
Student — Student Interaction
.y OH-TH 3 FRar

Teacher — Content Interaction

forers - fawwr awg e foram



Question Number : 146 Question Id : 4771872902 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s least relevant when evaluating the effectiveness of a

science period plan at the primary level?

AT TR W T 39 gsar &7 gaEfiear F1 JoaiFa sa g6
fefor@a # @ Fl9-91 F90 FA THEIF F

Options :

Motivation of students in the teaching-learning process

fereror-3rfery 9ferar & oar £ 9om

1. %
Clarity in explaining the content
fawa-avg T earEar # Fosear

2. %
Effectiveness of assessment methods
Hoaiwa faferat $Fr gamaefear

3. %

Teacher’'s dress code

fRretht 1 3T FI3

4.



Question Number : 147 Question Id : 4771872903 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An EVS teacher. Kalpana, always encourages her students to decide the final
result not with a single observation. but after making several observations. This
18 called:

U+ JAR0T 3egaa Hr RAfEF Fouar, wua Fefdar Frog@er vk aw F
HTdlhad IT Aef dloh F5 a & JAFdled 5 € a7 giona o &
o F T Sicatigd FIA & | 9 FET S F -

Options :

Inferencing

d'luid-llrl cidlladl

1. v
(Classification
FaffaRoT
2. %
Prediction
stfersaaToft
3. %

Questioning

3 HIAT



Question Number : 148 Question Id : 4771872904 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005, the following are to be taught in Environmental Studies

at Primary Stage

NCF-2005 & 38R, Waffs T W 9¥@&wohy wemad # fasg &1
fareror gl =nfew

A) Environmental Protection
STeRoi gaT
B) Poverty
T
C) Child Labour
dlel HH
D)  Illteracy
faerTar

E) Caste and Class equalities

Ffa 3R I gAar

Choose the correct one

TEr 397 F1 I3 HifFw

Options :
AB.CDE
1. %
A.B.C.Donly
Fad A.B.C.D
2. ¢
A B.C.Eonly
Faa A.B.C.E
3. %
A, C.E only
Fadd A.C.E



Question Number : 149 Question Id : 4771872905 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The lesson — “Child Rights” — was developed based on the following theme in

Environmental Studies

qOEIONT eTaA H a9 JOFR - 916 & AT T #F ¥ =w Ty
F 3R 9T BRI T -

Options :

Snfet:v

&t

Food, Health & Hygiene
AT, TR AT F=F=odr

2. ®
Values and Rights
Hear 3T T
3. ¢ 0
Travel
EIE)



Question Number : 150 Question Id : 4771872906 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following activity will NOT help the teacher to create the effective EVS

(Environmental Studies) classroom environment

f=fof@a 7 o Rers Fr wrEeret € & g (T e
FETTHeT F IATIEI0T FT AT FId H TEIAT A6l Far -

Options :

Discuss 1n groups

THEr F ==

1.
Think and Say

|

Collect and Record the information (Tables)

SAAFHT (ATTF13Y) FT Tholdd FLT 31T FE Frar

Reading the books

&I FT T34
4.



